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EREE0101 7| BRmEEn 150 650 50 0.0975 | 0.0049 H
EXA#0101 A 9 & 150 250 50 0.0375 | 0.0019 H
EXAE0101 v | Sk 150 500 50 0.0750 | 0.0038 H
EXAE0101 = | S 200 300 50 0.0600 | 0.0030 H
EXAE0101 | $:apEEH 100 50 50 0.0050 | 0.0003 H
EXA#E0101 B | #AnEEH 150 1000 50 0.1500 | 0.0075 H
EREE0101 X | $mEEn 150 900 50 0. 1350 | 0.0068 H
EREE0101 7 | SkAhEEH 300 650 50 0.1950 | 0.0098 H
EXAE0101 | Sk 300 1000 50 0.3000 | 0.0150 H
EXAE0101 o | $ApEE 300 650 50 0.1950 | 0.0098 H
EXAE0101 A 9 & 100 150 50 0.0150 | 0.0008 H
EXAE0101 D% 5 x 50 50 50 0.0025 | 0.0001 H
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EXAE0101 | $nEE 150 900 50 0.1350 | 0.0068 H
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EXEE0102 V| BmEE 50 100 50 0.0050 | 0.0003 H
EXEE0102 o | kAT ER 150 900 50 0.1350 | 0.0068 H
EXBE0102 7 5 x 50 450 50 0.0225 | 0.0011 H
ERE£0102 7 | SkFnEEH 200 650 50 0. 1300 | 0.0065 H
EXBE0102 v R 50 250 50 0.0125 | 0.0006 H
EXBE0102 1| R 100 300 50 0.0300 | 0.0015 H
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EXBE0102 3| g 200 650 50 0.1300 | 0.0065 H
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EXBE0102 5 | &g 100 250 50 0.0250 | 0.0013 H
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A = 5.0 x  12.000
4.2 T —Fk
A = 2000 x ( 3.600 +
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THEIRLY 4. 20 = 5. 00
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4.4 TEMEEIT
CAD L 1 1. 244
v = 1.244 X 8. 745
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= 9.0 4
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NEE = 18. 000 m2
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